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Bvdutionary Gane Andysis of the Sdedtion of B2B Fatfor m

CAOYutimgetd (Shod & Managenert, Shanghal Jaotong Lhversity , Shanghal 200030)
Aostradt There are narny B2B platforns in CGina nowand sone are used for the senices for clierts in dl i ndustries, but nost oy perfor mas an expert

senice daforminore indudtry . Inths paper, a synmetric and a non-symmetric evoluionary gane were nodeled to ardyze clierts’ selection between
these two dfferert B2B whenthey were charged a dfferert levels. The resuts shoved thet eech B2Bcod d be the equilibrium.
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